TRy 2 8EE

o f = = = & ¥ ® R REmES
g i & BB W B | B B | fE23x
9858 | A |1000(Ms BEHH (—HMAR) 15
9868 |k |10:00|—MER E=3 )
9R78 |k |[10:00|—#&ER B2
9B8H | K |10:00|—f&E R 2]
OF9H |4 |10:00|BREE - TR (—HEAR) |38 HREREAS
o E . iR
om12g | g | 00| BEREREZEAR ] ik clakacal I
|7 1330 wrseeEzas P ET P
om1ag | n [[O0] BEERREZEAS | ilaiataal N
13:30| PHREHEERS %£1Z82%
98148 [k [10.00| FEREEFZES F1ERERE
9158 | A |10:00| FEREHEEES %£1Z82%
9A168 | & (10:00 %ﬁé’%ﬁ%&?é% F1EERE
=i T
9meE |A| | | . |lmzos
9F208 |k |10:00| FErEREZES £1Z82%
98218 | & | éﬁﬁ%%A (10:00)
9228 [ K|  |msor
9R238 | &
9g248 ||  |puipmame
9g2sE | B L '
9H26H | A
omo7g | |10 BREERE ] B R |
13:30| HLEEEEL £2EALE
98288 |k
9F298 | K 10:00 ZERWE - HR &5




